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(WP )
(- /INE AT 44 39 83 12.0 71.0 ANE
HE DS R R 44 38 82 10.8 712 ANE
3 fr RS 39 39 78 6.0 72.0 ANE
4 W 43 41 84 12.0 72.0 ANE
5z HA 2] 40 43 83 10.8 722 ANE
6 iz HH3& 1R L 42 34 76 3.6 724 ANE
741 =& A 39 41 80 72 72.8 ANE
8 iz HR B — 49 42 91 18.0 73.0 ANE
9 iz il #5 46 38 84 10.8 73.2 ANE
10 7 B - 40 44 84 10.8 732
11 £z A 45 51 96 22.8 732
12 7 PR I 42 41 83 9.6 734
13 fif FA IEIR 45 44 89 15.6 734
14 f7 PH 1 44 44 88 144 73.6
14 7 ] 44 44 88 144 73.6
16 i1 TH 7K BH 46 42 88 144 73.6
17 {7 W= 40 35 75 12 73.8 B G
18 fi% A A 46 41 87 132 73.8
19 i1 WY /G 44 43 87 132 73.8
20 fir s ok T B 47 46 93 19.2 73.8 TRE
21 fif Hri ks 41 39 80 6.0 74.0
22 fir PR A H 48 44 92 18.0 74.0 A
23 fir JnE f& 43 42 85 10.8 742
24 7 KIS V¥ 44 41 85 10.8 74.2
25 fif PR E S 50 41 91 16.8 742
26 fir TG [ 52 39 91 16.8 742
27 iz YT TR 43 47 90 15.6 744
28 fir AT IR 43 40 83 8.4 74.6
29 fir HE 5L i 48 41 89 144 74.6
30 iz i B b 45 44 89 144 74.6 TRE
31 fiz K 5HH 48 47 95 204 74.6
32 vz TH/K fisH 44 51 95 204 74.6 Rl E
33 fir JIE & 40 42 82 72 74.8
34 fir iRl BEEPS 47 40 87 12.0 75.0
35 fiz R B3 49 44 93 18.0 75.0
36 fir A K 41 39 80 4.8 752
37 fir ESES 43 43 86 10.8 752 LM EAER RS
38 fir JIGA RfG 43 43 86 10.8 752
39 fif = RN 50 42 92 16.8 752
40 {7 s H 47 45 92 16.8 75.2 TRE
41 fr B H 1 49 49 98 228 752
42 fir JRF)11 W 55 37 42 79 3.6 754
43 fir K5 T 47 44 9] 15.6 754
44 i1 J1Ti8% fiff — 45 39 84 8.4 75.6
45 fr ik E 49 47 96 20.4 75.6
46 i e X 45 51 96 20.4 75.6
47 i1 Bajigh &% 55 47 102 264 75.6
48 i Pugs ¥ 43 40 83 72 75.8
49 fir F5K = 45 44 89 132 75.8
50 i RAE PE 44 45 89 132 75.8 TRE
514 oA fa—E 45 50 95 192 75.8
52 fir Z W 39 37 76 0 76.0
53 fir R Sl 46 42 88 12.0 76.0
54 fif R i 47 41 88 12.0 76.0
55 fir s IE B 46 42 88 12.0 76.0 M 34
56 i BAR BE 49 45 94 18.0 76.0
57 L AN 51 43 94 18.0 76.0
58 fir = S 50 43 93 16.8 76.2
59 fir FMH @G 55 44 99 228 76.2
60 {7 Wi 755 43 37 80 3.6 76.4 TRE
61 fir L R 44 48 92 15.6 76.4
62 fiL {6 & He— 51 47 98 21.6 76.4
63 fiz JIAL #th, 52 46 98 21.6 76.4
64 fif BP I Fh— BB 51 47 98 21.6 76.4
65 fir /NEE IR 42 43 85 8.4 76.6
66 i Ji % 5 47 44 91 144 76.6
67 fir K% B 48 49 97 20.4 76.6
68 iz HERR MR 41 43 84 72 76.8
69 fir e 11 AK 49 47 96 192 76.8
70 {7 ik B 7 57 50 107 30.0 77.0 TRE
71 4% R 45 37 82 4.8 77.2
72 B KH: AT 47 41 88 10.8 77.2
73 L FRIL = =B 50 44 94 16.8 77.2
74 {1 P iz 50 50 100 22.8 77.2
75 KK & 43 44 87 9.6 774
76 fir AR 48 44 92 144 77.6
77 L 7y 1F 5 46 46 92 144 77.6
78 fir ARt & 54 44 98 20.4 77.6
79 ERgNA S 49 42 9] 132 77.8
80 iz /NG AR 49 42 91 132 77.8 TRE
81 iz AR —Z 46 44 90 12.0 78.0
82 fir =R = - 46 44 90 12.0 78.0
83 iz kot #FEE 55 47 102 24.0 78.0
84 fir B4 T 49 46 95 16.8 78.2
85 iz NS 48 46 94 15.6 784
86 fir eI 15 5% 51 49 100 21.6 784
87 {ir HTH 4 = 50 50 100 21.6 78.4
88 iz P A 47 53 100 21.6 784
89 fif i R 49 50 99 20.4 78.6
90 fir FLRRH PR 49 49 98 19.2 78.8 TRE
91 fir G T 53 50 103 24.0 79.0
92 fir AR BHAL 52 50 102 22.8 79.2
93 fir HRAE 49 40 89 9.6 79.4
94 i, G I 47 42 89 9.6 794
95 fir 7 g P — 50 45 95 15.6 79.4
96 fir H b 49 44 93 132 79.8
97 fiz R A1 58 47 105 252 79.8
98 fir WS HH 5435 56 49 105 252 79.8
99 fiz WH: FERL 60 56 116 36.0 80.0
100 17 Hike e 50 45 95 144 80.6 TRE
101 fir P Ik 52 49 101 20.4 80.6
102 fiz AR B 51 50 101 20.4 80.6
103 {7 IR bt — 51 50 101 204 80.6
104 fi7 el e 54 47 101 20.4 80.6
105 fiz LT I 50 51 101 20.4 80.6
106 17 T BATEL 54 53 107 26.4 80.6
107 fiz il 35 46 48 94 132 80.8
108 fi A H: FERL 56 56 112 31.2 80.8
109 fiz e e R AREK 51 54 105 24.0 81.0
110 fz eIk Bt 51 60 111 30.0 81.0
111 f7 il ] 61 49 110 28.8 81.2
112 {7 IR e 52 45 97 15.6 81.4
113 fiz R A 57 51 108 26.4 81.6
114 f7 Fé I sE—Ef 49 45 94 120 82.0
115 7 Y JEL 5 53 46 99 16.8 82.2
116 fif NIIRELRy 62 55 117 34.8 82.2
117 f7 g sk 49 49 98 15.6 82.4
118 iz i B 54 50 104 21.6 82.4
119 f7 /N SE2E 59 61 120 37.2 82.8
120 fi7 PR (& 58 49 107 24.0 83.0
121 7 FEIIT 3K 56 52 108 24.0 84.0
122 7 AL PR 56 45 101 16.8 84.2
123 {7 wE 51T 53 54 107 22.8 84.2
124 7 MIEED 65 58 123 38.4 84.6
125 fiz JI& o 49 45 94 8.4 85.6
126 fif JEFE] KA 63 59 122 36.4 85.6
127 7 /NP TR 61 61 122 36.4 85.6
128 fi7 ay=a[! 59 58 117 30.0 87.0
129 fi7 e = A 53 66 119 28.8 90.2
130 £z P SE ] 60 68 128 36.4 91.6
131 7 A R 78 65 143 36.4 106.6 BBH

132 Hr Bfs8 45, 73 70 143 36.4 106.6




